|

’

T2 R iR'&d

it f}i‘- f,ﬁ'—% T Tu lﬁ'—aﬂ’ 2 Jé_irﬁg@ﬂg

p107#£017" 015%3%@’* A X1 F 522,000~ (5107#01% 01p 4= > d 21,009~ 3 £ 3 22,000~) -

< e 1.91% -

fi

B~ REEA LR (R s SR L)

=4
3

L
(m)® Mg r # (2P Mg r XA S (2)BE AR BE0d 2 e
()5 & w2 % 1000E 7 2.2 SRt Y

A~y BT FoBAeT & ARl

S RRERARR L4 TR dﬂj¢r£%fﬁ@%#%am¢w~@%*#¢J%,%

5‘7&/‘*”.&%7 i—ﬁ/\ E

F37301400 %

()R]
?JEI "'de ~ E;‘T- "'de ‘fE.$"];C)‘ ;*{f%’%—v]{)\;‘ ii—kﬁj ﬁ

FAEREE (D) RFRE

107.01.014= 3 *

Mé—;ﬁié—‘k .
22,000~ - ﬁ,a‘r',.g‘lﬂ: A A ;E-%.‘v °

PREER ArEP R JoB b /T 1 B
¥ P A -
F FAoB¥ % FEP 2 i
e @At 50 5P kR ,
ERN 50 s e o , WP
iy my | FRUTPESRT o Apo 4 PRy ey
R £ 3E
Lg%
24887
3.1% &
4ites s R EpATE £ S .
5.8 & ( : 1##}11,3—}1‘#‘—%" :
6$g i@%fﬁi&ﬁkﬁ
édgi Liiﬁa#@r EmiALA$#%#1
L BEFF o7 1?1:53?; 11,0009 ~3+ ¥ - i 1.91% (22, ooomu L(g)) wpa
11. & % & & 2 LFF 1.91% 3. E AR AR T K

12,77 3% 4 B il W ;?'HF%

13.4 B A& B 955 ¥ oo
=T

14.F 1 4 7 it ot

15.F % &5 48 84

16,35 % i3 48 2% 3

T ¥ M
ER 41 F(22,0007)

4.8 T~ 2

PR G 2l
F\ 7 ,11(; »—-%Bpa 2 (%

v’“r?g' #3450

R S S U R
S AT R R AT i

— — RS RE R L T Ry )
EAPEEE | &0 RiedE Reais | BTRELOOFLD | gy RSN L ALl P
”%J%ﬁﬁﬂw i P 21,0009 ~ 3 ¥ 191% i .
%I'S I 2 4 A5 4 =] i:’j'f’ ]B; A l’i%‘j’ 1'91% IA]V7H' D{Iﬁ&&g*} 4 ){ﬂp Kq
Wi 2 & (frﬁ;.ﬁ/iu%jr%;a L#; S (EeispriopgEal1rl F*ixik»wfﬁﬂ?v,i
g 'ﬁ‘%#ﬁ i A ' P4 %)
BRET Y
_L?fr%—‘;‘.fr'd\_ﬁf A P A
2. Mg~ 2
TN .7411{9:%}%?5@#*"*:@‘3
E:"%"}ﬁ%? F\T: [q‘,,]{)\miﬁF]QQl;l’
LB ATt Btz LR 3 F’;"r-’*‘ 4 L
i BB "E"‘ﬂ!:'F" borg R RE- AR E'gl m v g 1
9A ~ 9B 2. (4~ ) A5 1*11060*"71—49 A7l ”&20000’1(“) et
e |3EEEETLG SR 0 57 B 191% (6 b | ALEALAREREL
frgmgen |2 0F U A By e ey yor
" R¥F TR ﬁ/lfiﬁli«%rs;Zzooom) ?8;9‘—_ it e P E
1£20,000~ ‘ i
BPBER HEA R
RES
AN ENR S SN
P

SR 51
B & T~

& R Reehfe &
(Fdetpe B35 3 )

H

121,000 ~3+ &

LR

1£20,000 ~

AT MR
7

ﬁ&aﬁ%)ﬁ»
3 20,0007 (% )de
B4 1.91%

0
\3

REETR
R R S
fer =

r}%* FOHS B P 2
N2 Iﬂ‘i( IS ”")’5‘}:'1’5 > (%

Ayt f




